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1. The area of the triangle iS V300 cm2.
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Given that AB is parallel to ED, calculate the length of AB.
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3. In triangle RPQ, ~P gS 6
RP = 8.7 cm .7 .
PQ = 5.2 cm 8 . 24
Angle PRQ = 32° R 3Z 7

(a) Assuming that angle PQR is an acute angle,
calculate the area of triangle RPQ.

Give your answer correct to 3 significant figures.
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(b) If you did not know that angle PQR is an acute angle, what effect would this have
on your calculation of the area of triangle RPQ?
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4. A Big Wheel is modelled as a circle with centre O and radius 15 metres.
The wheel turns in an anticlockwise direction.

The lowest point on the wheel is always 2 metres above horizontal ground.
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hm  Notdrawn
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(a) Cis a point on the wheel, h metres above horizontal ground.

Angle COB = x° R h - Ob -BGA
Show that h = 17 - 15 cos x° = |3 - 150080c @QED

[2]
(b) D is a point on the wheel.

wuﬁh = L ¥ - 18085 2C
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Not drawn
accurately
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Angle DOB = 120°

Work out the height of D above horizontal ground.

[2]

www.justmaths.co.uk Trigonometry 2 (H) - Version 3 February 2016



QJustMaths

(c) Here is a sketch of the graph h = 17 - 15 cos x° for one complete turn of the
wheel.
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P is the highest point on the graph.

Work out the coordinates of P.
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5. (@) Write down the exact value of tan 60°.

(a) l:c«./léOo=‘r§ .................. [1]

(b) Find the exact area of tl?is triangle.
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7. Simon cuts the corners off a square piece of card to leave the regular octagon

shown below. .
D OAbL is isoscelos so

O is the centre of the octagon.
=l I - .
A and B are vertices of the octagon. 180 LS =185 2;5 = 61-S

OA =0B =5cm.
Angle AOB = 45°,

pods(b)

sn 63S=
S
o = SSnb-S

Nottoscale - - (.. £1Q 3972 . .
so ,'ngﬂiopoa)d

= 62 x2
=Q.2381Q. .
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a) (i) Work out the area of the octagon.

areo 0Ff & oAb
LSNG ?é obanC =30 - H06...

21w $x %8S

“ @@ .30 ¥ [rgé»p) cm? [3]

- 258

(ii) Work out tr‘fé area of the original square piece of card.

8S 35833 ...

"

() I 85”'4— .............. cn:'! [5]

b) Simon now makes a table top using the card as a model.
The sides of the table top are 8 times as long as the sides of the card model.

Find the ratio of the area of Simon’s table top to the area of the card model.

L(m@U\ socale fockor = 8
oreo. SF - 8%
volunw SF = 82

mg: r%lﬁaopn b) ...... ... ‘ ........... [2]
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8. In the triangle, angle y is obtuse.

Not drawn

10 em accurately

Work out the size of angley.

uLn Sun L
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Su\,éj = sm&‘-jﬁf Lé :6%‘5
[3]
9. (a) Sketch the graph of y = sinx for 0° < x < 360°.
y
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[2]

b) (i) Write down the coordinates of the maximum point of y = sinx for 0° < x < 360°.
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i) Write down the coordinates of the maximum point of y = 3 + sinx for 0° < x < 360°.

c) One solution to the equation 4 sinx = k is x = 60°.
i) Find the value of k.
sStn 60 = {3 Lx{3 - 203
2 2

i) Find another solution for x in the range 0° < x < 360°.

stnoc={3
yA

() — (&) _ o
x = 0+60 ax =180 -60 = ii)x=......[.°20 ................. °[1]
10 Sketch the graph of y =cos x° for 0 < x < 360

VA

=V

[2]
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ABC is a triangle. < [D DB . S$-655 Db =222
D is a point on AB. snz2s 8wnvd8S o Ab -8-122

Work out the area of triangle BCD.
Give your answer correct to 3 significant figures.

ortce fCD = arec. ACH - aueer ACD o
:(_élsqzzxu.q'sb{\ae) -(123'8¥LL‘Q>€SU\90) = | L"S

............................................ cm? [5]

12. a) The graph of y = sin x is shown for 0° < x < 360°

On the grid sketch the graph of y = sin x —1 for 0° < x € 360°
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[1]

www.justmaths.co.uk Trigonometry 2 (H) - Version 3 February 2016



QJustMaths

b) The graph of y = sin x is shown on the grid for 0° < x € 360°

On this grid sketch the graph of y = —sin x for 0° < x < 360°
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[1]
c) On this grid sketch the graph of y = tan x for 0° < x € 360°
.1'
b I
|
2 { ‘
‘l l
1 i 5
0 -
0° 90° 80° 270° 60° N
|
-2
1 l
[1]

www.justmaths.co.uk Trigonometry 2 (H) - Version 3 February 2016



QJustMaths

13.

Not drawn
accurately

15¢cm

Work out the value of y.

[2]
14. Triangle ABC has area 40 cm?.

AB = 2BC.
2x

Lot BC-

Not to scale

A 2 = BE

Work out the length of BC
9 —

Give your answer as a surd in its simplest form.
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15. Which expression gives the area, in cm?, of this triangle?

Not drawn
accurately

orec—=L «Bu IDxgLA

2
= O 8uLnoC
10 cm
Circle your answer.
[1]
80 sin x 40 sin x 80 cos x 40 cos X

16. Two triangular lawns are shown.

Wire fencing is needed for all five sides.

4 cOsS WO = 2C
' (O
Ve
100 bC oC A OOcos 10O
= 36 6m
Sin LO =Y
\OO

(j: Lo sLNLO
= BL-3Bvn

Not drawn
accurately

2 2 &
2T 643 +120 -2x6L 3¢ 120
X COS 2O

Wire fencing is sold in 50-metre rolls.

Work out the number of rolls needed.

= sl 664. ..
Z = F-Qm

ool = \OO+\20+ F6-b+tbL-ZtF1-Q =L32-8 6]
2 1y cwe neededt

www.justmaths.co.uk Trigonometry 2 (H) - Version 3 February 2016



QJustMaths

17.

A Not drawn
accurately

6 cm

B C

Kernal is using trigonometry fto work out the size of angle x.

He assumes that angle ABC is a right angle.

In fact, the size of angle ABC is 85°

What is the effect of his assumption on the accuracy of his answer?

You must show your working.
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